SIGNATURE PAGE

RFQ# F-74-2023

To the Board of County Commissioners of the County of Monmouth:

THE UNDERSIGNED HEREBY DECLARES THAT I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS. I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE WITH YOUR REQUIREMENTS.

Company Name:	SiteOne Landscape Supply
	(PRINT)
Preparer's Name:	Monique Potts
Signature:	Il rugue follo
Address:	SiteOne Landscape Supply 1385 East 36th Street
	Cleveland, Ohio 44114
Telephone No.:	216-706-9250
Fax No.:	248-581-1433
E-Mail Address:	bids@SiteOne.com
	(This should be the email where Contracts would be sent)
Contact Person:	Sama As Above
FEIN:	
(Federal Employee ID)	

RFB must be received no later than:

REQUEST FOR BID

---- This Is Not An Order ----



September 20, 2023 10:30AM

RFB# F-74-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

For D	elivery to:	Various Delivery Locations. See Details Below.			
Deliv	erv Date:	10/1/2023-12/31/2024			
ITEM		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
1	LESCO PROS 2.5 GAL/BTL	SECUTOR PRO 41%	100 BTL(S)	4600	6600 01
	Packaging: MFG/Brand Product No Variances,	86703432			
2	LESCO HAW 2 QT/BTL	KEYE ORGANOSILICONE	18 BTL(S)	41.18	205-90
	Packaging: MFG/Brand Product No Variances,	400501			
3	LESCO SEED 40 LB.	STARTER 4 MULCH	50 BAG(S)	25.00	1250.00
	Packaging: MFG/Brand Product No Variances,	<u>857000</u>	·		
4	LESCO MULO 50 LB/BAG	CH CELLULOSE WITH TACK	5 BAG(S)	28:29	141.45
	Packaging: MFG/Brand Product No Variances.	089760			<u> </u>

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-74-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
5	LESCO TRICLOPYR 4 ESTER HERBICIDE 2.5 GAL/BTL	5 BTL(S)	206.09	1030.45
	Packaging: MFG/Brand: Product No: Variances, if any:			
6	LESCO FERTILIZER 18-24-12 25% POLYPUS OPTI45 50 LB/BAG Packaging: MFG/Brand: Product No: Variances, if any:	5 BAG(S)	30.65	153-25
7	LESCO ALL PRO TEAM MATES PLUS SEED MIXTURE 50 LB/BAG Packaging: MFG/Brand: Product No: Variances, if any:	5 BAG(S)	97.00	485.00
8	LESCO LIQUID LIME (TO BE PICKED UP BY DEPARTMENT) 2.5 GALLONS/ CONTAINER Packaging: MFG/Brand: Product No: Variances, if any:	5 CONT(S)	28.36	141.80
10	SPECTICLE FLO (AGENCY) 7.4% 1 GAL/BTL Packaging: MFG/Brand: Product No: Variances if any:	8 BTL(S)	NO NO	16249 60 BID

REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-74-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
11	Packaging: MFG/Brand: Product No: Variances, if any:	40 BTL(S)	118-27	4730.80
12	CELERO HERBICIDE POST EMERGENT 1 LB/CONTAINER Packaging: MFG/Brand: Product No: Valeut 10701401 Variances, if any:	2 CONT(S) - - -	206.00	412.00
13	PENNANT MAGNUM SELECTIVE HERBICIDE 1 GAL/JUG Packaging: MFG/Brand: Product No: Variances, if any:	3 JUG(S)	296 ^{.98}	890.94
14	GARLON 3A HERBACIDE 44.4% 2.5 GAL/BTL Packaging: MFG/Brand: Product No: Variances, if any:	5 BTL(S)	264.05	1320,25
17	NUFARM PROSEDGE 2 HERBICIDE HALOSULFURON-METHYL SEDGE CONTROL EPA# 228-711 1.33 OZ/BTL Packaging: MFG/Brand: Product No: Variances if any:	2 BTL(S)	65.72	131.44

REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-74-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
18	FERTILIZER & LOCK UP WEED AND FEED, 19-0-5 50#/BAG	2 BAG(S)	31.25	6250
	Packaging: MFG/Brand: Product No: Variances, if any:	· -		
19	FAST GROW, 25#/BAG	2 BAG(S)	NC) BII
	Packaging: MFG/Brand: Product No: Variances, if any:	- - - -		
20	DURA-TURF MIXTURE 2, 25#/BAG	2 BAG(S)	N() BI
	Packaging: MFG/Brand: Product No: Variances, if any:	- · ·		
21	TURF PRO 10-20-10, 50#/BAG Packaging: MFG/Brand: Product No:	2 BAG(S)	MO	
	Variances, if any:	-		···
22	Packaging: MFG/Brand: Product No: Variances, if any:	2 BAG(S)	93.14	186.28

REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-74-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
23	Packaging: MFG/Brand: Product No: Variances, if any:	2 BAG(S)	110.22	220.44
24	Packaging: MFG/Brand: Product No: Variances, if any: TURF PRO GREEN-UP 22-0-5, 50#/BAG TO Ib/bas MAG-Turf Pro 4 MAG-Turf Pro O 9 1002 Variances, if any:	2 BAG(S)	14.93	29.86
25	TURF PRO BB SUN & SHADE MIX, 50# BAG Packaging: MFG/Brand: Product No: Variances, if any:	2 BAG(S)	NO	BID
26	TURF PRO SUN-THRU-SHADE MIXTURE, 50#/BAG Packaging: MFG/Brand: Product No: Variances, if any:	2 BAG(S)	NO	BID
27	Packaging: MFG/Brand: Product No: Variances, if any:	2 BAG(S)	NO	

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-74-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
.28	MAGNESIUM CHLORIDE 144, 50#BAG	2 BAG(S)	NO	31D
	Packaging:MFG/Brand:Product No:			, , , , , , , , , , , ,
	Variances, if any:			
29	MAG-I-CAL PELLETIZED LIME, 5M	2 BAG(S)	14.93	29.86
	Packaging: MFG/Brand: Product No: Variances, if any: 50 b / bas MAG-Turk PLO 91002			
30	MELT-A-WAY ICE MELTER - 50#/BAG	10 BAG(S)	9.34	93.40
	Packaging: MFG/Brand: Product No: Variances, if any:		L	
31	STRAW BALE 12" X 30"	2 EACH	14.06	28.12
	Packaging: MFG/Brand: Product No: Variances, if any: DEWITH STRAW Tacksack STRTS - & 8			
32	STRAW BLANKET- SINGLE NET 8' X 112 '	2 EACH	39.04	78.08
	Packaging: MFG/Brand: Product No: Variances, if any:			1

REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-74-2023

Monmouth County Purchasing
Hall of Records, 3rd Floor
1 East Main Street
Freehold, NJ 07728
(732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
33	HYDRO-SEED ULTRA 14-28-14	2 CONT(S)	55·50	111.00
	Packaging: MFG/Brand: Product No: Variances, if any:	- - - -		
34	TACKIFIER/SOIL BINDER 3 LBS/JUG	2 JUG(S)	32-16	64.32
	Packaging: MFG/Brand: Product No: Variances, if any:	- - - -	_	
35	5 OZ WOVEN LANDSCAPE FABRIC	2 EACH	NO	BID
	Packaging: MFG/Brand: Product No: Variances, if any:	- - -		
		•		

REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-74-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski-732-431-7370 x7381

FURNISH AND DELIVER HERBICIDES, PESTICIDES, SEED, AND VARIOUS LANDSCAPE MATERIALS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD ON OR ABOUT OCTOBER 1, 2023 THROUGH DECEMBER 31, 2024 (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
36	HERBICIDES, PESTICIDES, FERTILIZERS AND SEED NOT LISTED:			
	IN THE "TOTAL PRICE" COLUMN FOR THIS ITEM ENTER THE NET COST TO THE COUNTY COMPUTED AS FOLLOWS:			
	ESTIMATED AMOUNT AT MANUFACTURER'S SUGGESTED LIST PRICE: \$100.00			
	LESS DISCOUNT OF 15 % OFF Shalf (EXICITED ANY) (-\$)	cluding Agency)		
	NET COST TO COUNTY (ESTIMATED) \$*			Ì
	*/PUT THIS AMOUNT IN THE "TOTAL PRICE" COLUMN FOR THIS ITEM. THE ACTUAL CONTRACT AND PURCHASE ORDER MAY USE A SOMEWHAT DIFFERENT AMOUNT FOR THIS ITEM, BUT BIDS WILL			
	BE EVALUATED ON THIS AMOUNT			
	Packaging:	— — .		
	Product No:			
	Variances, if any:			
			3,1,1	111.70

Various Delivery Locations:

Buildings & Grounds/Trades **Special Services Complex** 300 Halls Mill Road Freehold, NJ 07728 Karen Retzer 732-431-7360 x2136

Division of Shade Tree Special Services Complex 300 Halls Mill Road Freehold, NJ 07728 Cassandra Deckle 732-431-7903

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-74-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER HERBICIDES, PESTICIDES, SEED, AND VARIOUS LANDSCAPE MATERIALS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD ON OR ABOUT OCTOBER 1, 2023 THROUGH DECEMBER 31, 2024 (MONMOUTH COUNTY CO-OP)

ITEM#

DESCRIPTION

QUANTITY/UNIT

UNIT PRICE

TOTAL PRICE

Division of Reclamation Center Att: Anthony Morrell 6000 Asbury Avenue Tinton Falls, NJ 07753 Anthony Morrell 732-683-8686 x5402